
ANEST	IWATA	do	Brasil	Comercial	Ltda.
	www.anest-iwata.net.br										contato@anest-iwata.net.br											19	3442-1123		-		3441-6920

	
	
 

AMM-6B                                                             Agitador Pneumático 

	
	

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ANEST	IWATA	do	Brasil	Comercial	Ltda.
	www.anest-iwata.net.br										contato@anest-iwata.net.br											19	3442-1123		-		3441-6920

	
	
 

AMM-6B                                                             Agitador Pneumático 

	
	

  

 
 
 
 
 

 
 
 
 
 
 
 
 
http://www.ec-ai.com/Content/parts_e_cb/print.html – Modificado por Anest Iwata do Brasil 

NO. PART CODE DESCRIPTION Q'TY UNIT	 SIZE	

1 AM6B AIR MOTOR 1     

4 95000750 HANDLE VALVE 1     

4-1 95000760 VALVE 1     

4-2 95000770 ADAPTER 1     

4-3 95000780 VALVE HANDLE 1     

4-4 96610090 STOPPER 1     

4-5 93660300 AIR NIPPLE G3/G5 1   G1/4B 

4-6 96630010 O RING 1   1AP10 

5 96210606 SCREW 4   M6xL6 

6 95000950 AHAFT COUPLING 1     

7 95001700 MIXING SHAFT 1     

8 95031251 MIXING BLADE 1     

9 96361101 HEXAGON NUT 2   M102 SUS 

10 96363100 WASHER 2   M10 SUS 

11 96362100 SPRING WASHER 1   M10 SUS 

12 95000790 GRIP STAY 1     

13 96357507 HEX SOCKET HEAD BOLT 2   M5x10 

14 96266276 HEX HEAD BOLT 1   M12x35 

15 96501206 SPRING WASHER 1   M12 ZNC 

16 95000990 GRIP 1     


